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’ 100kN/mM##BZ % 1.00/ 000 ~ 234 136.43|3mZiBRDH| - ~ = - -| 100kN/MZE#B 22 1.00| 10.96 ~ 23.95 136.43|3m%i#BZ 5 ol ~ = = -
TS 1.00]2.34 ~ 1012 100.00] Zh st 000 ~ 10.12| 2.54 12.86 ZThLLSE 1.00] 500 ~ 1096 100.00| Zh it | 500 ~ 23.95| 254 12.86
9 100kN/mM#%#BZ % 1.00/ 000 ~ 286 145.24|3mZ#BRD| - ~ = - -| 100kN/MZE#B 2% 1.00| 11.18 ~ 2475 145.24|3m%i#BZ % ol ~ = = -
ZThLS 1.00| 2.86 ~ 10.64 100.00] Zh st | 0.00 ~ 10.64| 2.94 14.88 Zh LS 1.00] 500 ~ 11.18 100.00| Zh st | 500 ~ 24.75| 294 14.88
3 100kN/mM##8Z % 1.00/ 000 ~ 286 145.24|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 11.18 ~ 2475 145.24|3m%i#BZ 5 = ~ = = =
ZhLS 1.00| 2.86 ~ 10.64 100.00] Zh st | 0.00 ~ 10.64| 2.94 14.88 Zh LS 1.00] 500 ~ 11.18 100.00| Zh st | 500 ~ 24.75| 294 14.88
4 100kN/mM#%# 8% % 1.00/ 000 ~ 236 136.82|3mZi#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.64 ~ 20.02 136.82|3m%i#BZ % = ~ = = =
ZThLS 1.00|2.36 ~ 10.14 100.00] Zhlist | 0.00 ~ 10.14] 246 12.42 Zh LS 1.00] 500 ~ 10.64 100.00| Zh it | 500 ~ 20.02| 2.46 12.42
5 100kN/mM#%# 8% % 1.00/ 000 ~ 236 136.82|3mZi#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.64 ~ 20.02 136.82|3m%i#B% % = ~ = = =
ZhLS 1.00|2.36 ~ 10.14 100.00] Zh st | 0.00 ~ 10.14] 2.80 14.16 Zh LS 1.00] 500 ~ 10.64 100.00| #nList | 500 ~ 2002| 280 1416
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZThLS 1.00/ 000 ~ 7.06 89.66] ThLris |]0.00 ~ 7.06] 1.93 9.76 Zh LS 1.00] 500 ~ 10.18 89.66] Thuls | 500 ~ 10.18] 1.93 9.76
7 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00] 0.00 ~ 5.88 73.65] zHh st | 000 ~ 588] 1.85 9.33 Zh st 1.00f 500 ~ 6.80 73.65| Zh st | 500 ~ 6.80| 1.85 9.33
8 100kN/mM##BZ 5 1.00{0.00 ~ 0.52 107.69|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.76 ~ 12.34 107.69|3m%E# %% = ~ = = =
ZnLst 1.00] 0.52 ~ 8.30 100.00| Zh1List | 0.00 ~ 8.30] 2.09 10.55 Zhn st 1.00f 500 ~ 10.76 100.00f Z1List | 500 ~ 1234 2.09 10.55
9 100kN/mM##BZ % 1.00{0.00 ~ 0.40 105.87|3m%E %% -~ = = -| 100kN/ %8z % 1.00| 11.06 ~ 12.34 105.87|3m%E#B %% = ~ = = =
Zrn Lot 1.00] 040 ~ 8.18 100.00] Zh st |0.00 ~ 8.18] 2.04 10.32 st 1.00f 500 ~ 11.06 100.00f Z1List | 500 ~ 1234 2.04 10.32
10 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 5.79 72401 zh st 000 ~ 579 1.79 9.05 Zh st 1.00f 500 ~ 6.52 72401 Zh sk | 500 ~ 652 1.79 9.05
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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